Grade 7 Mathematics - Final Exam Review

Unit 1: Patterns and Relations (Non-Calculator Unit)

1. Complete the table by writing the divisibility rule for each number.

Number Divisibility Rule: A number is divisible by:
2 If the Vast digit is evern (0,2,4,6,%)
3 If the SUM of the dlslfs isa rhulhplc ofF 3
32 i £y
4 If ¥ne Vast Two digits ic & MU\Hp\c of 4.
ex' 1232 gince 2% =%
5 If ¥he Vast digir ic o Sora
ex: 35 360 or 23115
6 If 1% is divislble b~1 2 and 3.
ex: g igit 1 w and aré 52+ 1R and 18:2:4
8 If The last 3- dtans is oivistole by ®
1 . = 9|
9 If Hhe suwof e digits is  divisiole By q
ex: 135 329 Since  1t315+3¥3AYQ ° 3} and 3Ha=3
10 f +he Y‘ast digit ewds in O
Cx: i v L R 6
2. Fill in the chart for divisibility rules with either yes / no.
) 2 3 4 5 6 8 9 10
112 Y N b4 N N 1 N N
2006 | Y b N 9 b b N
5100 b N - . Iy s N N “{

3. Use a Venn diagram. Which of 6, 8, 10, 15, 18, 25, 26, 36, 40, 45, and 120 are divisible by

2 and 3? What does the overlap region represent?
¢,1%,36 and 120 ave
divisible by 2and 3 .
This means thal
ihege numbers are

also divigiole bﬂ b .




4. Create a Carroll diagram to sort the numbers according to divisibility by 6 and 9.

30 79 162 3996 23517 31974

Diviitle by 9 | Not divisible b
Divisivle by 6 |12, 3936 | 30, 319%y
_Not divigible bub | 23517 H
has an equal siyn docs NOT have an equal Sign

5. Name each of the following as either anor an €

A) 3x B)5t=9 C)4s+3=7 D) 4m + 8m -3
expression equation equaton expression
6. Identify the variable, constant term and numerical coefficient for each of the following

expressions and equations.

A) 3b+1 B) 2w C)y+6
[variabie |Constant term |nomerical coebGcient
A3t L b 1 3 B
&) 2w w — 2
C). 5*6 Write each expression below as an algebraic expression
A} Mike’s salary increased by S100 ¢ +100 %= Mike's Salary

B) It costs $10 per hour plus $5 for renting bicycles 16h+95 h=#of hours
C} A movie is $7 per student Fg g« ¥ of shudents

D) 6 moreargﬁm e N+h n=arnvmber

E) 10lessthananumber p.yp N = armurmber

8. Write the following algebraic expression in words.
A) 2n  two times anurnber B)3-8n Eighl' Hmesa number |ess fham 3,
or

dmblc [o] nvmbcr—

9. Substitute the value x = 2 into the following expressions @ PRemember to Hllow She covrect
ordev of gpevation
A) 3x+5=3(20+5 = 615 =1} Beﬂé
X 2 O T ry -
B) > 3,3‘._3:‘_3:_7\, ) +

C} Three less than x
x-%:=2-3: -1



10. Use the diagrams below to answer the questions.

ANWAY

JAVAN

A.} Continue the pattern to the fifth diagram.

B.) Complete the table to show how the pattern grows.

Diagram number {n) Number_p_f sticks (s)
1 3 32
2 5 17
3 3 {2
4 q 32
5 §! 'y

C.} Describe in writing how the pattern grows.

As the oll'agram hvmber incrrases by 1, e number of ShckS Increases 1052-

nvmerical coe PRicient (attach to indepen

Variable)

D.) Write an algebraic expression to show the relationship between the diagram number (n)

and the number of sticks (s).

An+l

E.) How many sticks would be in the 20" diagram?

h= 3o

Input | Output
n 14-n
1 oM-1=13
2 iM-zs12
3 1Y4-3 =11
4 liy=10

dntlz QLa0)+) = Hotl=th
11. Complete each input/output table.

P Y

M

Input | Output
n ?
1 7
2 11
3 15
4 19

4

numerical coeFGcient

Ynr3

r



0 pes) ve
# hegahve

Unit 2: Integers (Non-Calculator Unit)

1. Use integer tiles to represent the following integers in 2 ways.

ddpuwmpe popoy 28
A)-7 % B)+5 2 -2 %
Povwwary =R =4
o opopon 8 "g s g
2. What integer is represented by the integer tiles? @ = positive
ACOG D +2 O = negative
B OC & -1
OC® o
3. Arrange from least to greatest. a)—9,6,—4,0,—-2 b)-3,1,-10,-1,2
-q,-4,-2,0,06 ~i0, -8, -1, 1, 2
4, Stephanie has a golf score if —3 and George has a golf score of +7. What is the
diffe[ence in their scores?  ¢-3) - (+3) Instead oF :""bh'“"" ng In¥gers:
vah'ac Hor N 3) + -3 heep (the 42 lnkjer) C)hargc (f’b*@
5. Rebecca has —$46 in her bank account and $81 in her savings account. What is the m\ addaHor
total amount of money that she has? 1’2_ arge (v ,
6. Use integer tiles to complete the following addition questions.
- — A)(-8)+(-3) = -10 &) (~ud~¢-38) =
Brnegative A) ( 8) + ( 2) "'.'90 By
np()s',h-ue X B) (_1) + (+4) [ o
¢ (=4 - (-3)
B (~1) +C+y) = +3 o)
D) (-3) — (+1) (-3)- C+1) = oy
4 o 0@ sous
o7
7. Use a number line to evaluate:
A)(+4) + (-1) =3 B)(—8) — (+5) = -9+ (-8>: -3
e o s
‘ e,
-_.',.L!i] +_4_=$=n.-1—$—+—|n-—-p..-_|
0y 2 @'-I @ -8 (8]
8. Evaluate:
AY(45)— (= 2) <6Sk )= +F B)(=4) —~(+11) = (-4> + (-1:1) = -5
C) (-—8)—5:(-8)}(-5):-43 D)2—7 z ad-(-?) F—
E)(=3)— (=14)= (-3) s+ (1) =+l F)=5 +(=7) = - 12

G)9 + (-4) = 5§ H)(-6) + 12 = {



Unit 3: Fractions, Decimals, and Percent (Non-Calculator Unit)

1. FL1=0092=01 ,andﬁzo.ﬁ

2. £0.01 == 0.__2'---i O.d?=i what is 0. 04 as a fraction? c‘,aq

99’ 99’ 99’
3.  Convert the following decimals into fractions in simplest form.
L) .63 -S| A 4 19
A) 04 =i e 2 8)063 ¢ o €)0.02 » jz.. -5 D)L9 = [i5 o &

4,  Order the following sets of numbers from smallest to the largest.

A) 2.32.40232023602.327 2.2,2.32,2.327, 2.9 2.4
0.9600

5.9992.. B) 0.96,09,09,056,009 0¢.99,0.9,0.96,0.96 0.9
8. 9000

111 L R
ging‘n. C) Z:E:E Y ) 3 1 2
.0
16 16 1
e e
b) o017 16 lc’%%’%
1 15 g
E) 0.55,,1.13,— Jz-Ja. 55 ,1.13, 3
L4 ¢
0.5 5
5. What number could replace the ?
A) 04 <§ <0.6
B) 2 <0<t
10 10
08 4 o
0.3),0.82, ..., 0.38,0.39
6. Identify which number has been placed in the wrong position.
3% I_.:. 4
e
\)e t Line Aivided into \‘c"\‘“\S
5\.\0\)\5 3

5%0-— 2%



12,

13.

Solve the following addition and subtraction questions. Check your answer by using
front — end estimation.

A) 92+35. B) 0.36+0.8
9.2 et qQ43:12 '6.26 est: 6100
+3.S LT
12 .3 1 -1b
C} 9.6-1.42 D) 14.31-5.7
Evaluate without the use of a calculator.
A) 1.4x2.1:2.9 B) 0.8x0.7:06.5( C) 12+ 04,
Y 50.8 3
X2\, w3 NIE
Y %6 o
+220 &R
294
Evaluate using Order of Operations:
®3%3
A)  9.9+(56x6.1):4 B) 26.9-4+8.7x5 ¥ 5
439
A3 4 3416 3y 1%.9 -4+ 439 3
19 ® 2¢ .9
3+ 8.5Y 439 +43.5 - 4.0
19.4y T 22.9
& @229
.5
How many 0.3 L glasses can be filled from a 1.5L bottle of water? ":z £y

"3"0'3 =5 S glasses can be Blied.

Grade 7 classes have raised $43.21, $63.2, $89.90 selling cookies. How much money have
they raised so far?

«43 .2\ 819631 roised so for .

62.20

+ §9 .40

196 .3 1

Neila wants to be 181 cm tall and she is now 121.4 cm. How much more does she need
to grow? 0 Dhe neects fo g rova
8 210 59.¢ con mm-s e .
1219
59 .0

Express the following percents as decimals and fractions.

A) 30% = 0.30 B) 4% = 06.0% () 68% = 0.69
0.3 = 4 - ¢%
2 1006 ——
=z o 1oo
{0 T =34
50

=13
e



Calculator Allowed for 14-17

14, What is 45% of 1507
045 x 155 = 635

15. At Washington High School, 35% of all students own a Wii system. If there are 500

students at the school, how many own a Wii game system?
36% of 500
0.35 x 500

179
16, Will got 27 out 42 marks on his test. What percent did he get?

}
.a,,'a D ariva = 9.6y —> 0.64xI0:

Kaylee was shopping for a jacket. The jacket she wanted was on sale at Athlete's World

with a rate of discount of 30% off. If the regular price of the jacket is $68.99, find the
discount and sale price.

Oisomt = 309 o £ %299 Sale ricer 68.99 - 20.30
20.30 x 68.99 =848 29
=820

Unit 4: Circles and Area (Calculator Allowed Unit})

1. Find the radius of the following circles with the given diameters.
A} d=10mm B} d = 6cm Cld=7m
r=10t2=9 r=3 r=z3.5
2. Find the diameter of the following circles with the given radius,
A} r=6cm B} r =9cm Clr=26
d-éex2=12 d:=1I8 o=58.12
3. Estimate the circumference of the circles with given radius or diameter.
# A N N e e

vse Trs 3 O:Pr'd

A) r=6cm Bjd=8cm
d=12  €=0(33(1)=36,m O= 3¢8): 2Ycny

Find the circumference of the circles with given radius or diameter.

A) r=6cm B)r=3cm C)d=8cm D)d=10cm
d:12 d=§ ¢:nd ¢=frd
0.1rd 0=nd 2 (3.14X8) 1 (7.14Y10)

= 1T -
= & r 9.
. (3.!‘{3(11) (3.8)(6) d5.13cem 3% em

= 3% 68cm = 1884em



%A Find the area of the following shapes (be sure to include your units).

A) B) C)
bh ' Acirele = Mrxy x v
A{'rfmglf‘ a i =3.i4yx2x i
' 10m >
- (10 = S
a l
et 4 8
cm m
S 2 ﬁpnm! lelog ram = bxh
[ ern &%
6. The area of a triangular flag is 120 cm?. If the base of the flag is 40 cm, how high is the
flag? Atriangle - &b
iangle .
lap = Hox7?
Al ( o .
\ 24p 47
7. Find the area of the circles with the following radius or diameter.
A) r=10mm B)d=7m Az
Az rxexr rs3.6m *3.1453.5%3.5
3. )4xioxio = 32.466m T
= 314Yrm?
8. Mr. Baker had a coconut cream pie with the diameter of 35 cm. He cut the pie into 8
slices. Find the area of each slice, Fadivs=35%2 = /7.5
Area of each siice - 961.¢3 %8 Acircle « mrxrxr
- a 34 x{F5x17.9
= 120.20em =9¢1. 63em?
9. A Toonie has a radius of 18 mm. The inside circle of the Toonie has a radius of 0.6 mm,
What is the area of the outside ring on the Toonie?
Area tksede trxrar Brea inside = -arxr
=2.44x18x1¢ T3 IY X6 x0.6
= [ol?.3aMM" = 1. 130Ymmn -

- m Q
10.  Johnisdrilling a hole in a block of wood. What is the area of the shaded region?
ol bxh

e ! 30x12
' 12 cm 360

AYEQ rortangle

"w ou

A’I‘Cﬂc;mk s Txvy x(
= 3.4 x5 x5

Area of %ded: 5’@0 ~F85 = 38).5,m?
— P — -~



Amount of Chocolate Milk Sold in a Week

_Monday
AL, Friday [ 10%
30% Tuesday
165
ednesday
Thursday 18%

26%

A) What percent of milk is sold on Wednesday? ‘2%

B) Identify a group of days that makes up about half of the total sales.
Muv\dwj,\'ugsdcud o wedncso\o»g Sivice (0% +16% 4 I%°70=q"‘°7° ond half'is 5004(

C) If the sales of chocolate milk for the week are $200, how much is made on Monday?
109, of $200 > 0.10 X200 = §20

12. The Grade 7 students at CBl were surveyed to see what their favourite sport was.
35 liked Volleybali, 20 liked Basketball, and 14 liked Tiddlywinks. Construct a Circle

graph.
| sport | Frequency | Fraction | Decimal | Percent | Degrees fesfertof 3¢0°
vollevball | oo 2 0.5 5\, (b8 360= 18fse
Baskethall 1 20 2 0.29 2%, |20 %30= 104°
Tiddlywinks T t 08 D |026x360-3
Total X o L 100% 360’

Rasketball
3Qs),

Tidd \Sw-.m«s
0%

\!O\le\dba\l
S\,



Unit 5: Operations with Fractions {Non-Calculator Unit)
By muit o€ 5 5,19, \5,'2.0.25...

1. Find the LCM of the pairs of numbers. mott of @ 6,2\ 82439, .. -
=0 ) mott 6€3-3,6,90, ...
A) 32 B} 5,6 C) 3,4 D) 9,6 moitrof UL 1,80 ...
it of 31 3461 1, ... Lewm= . m: | .
mote. of 222908 .. - 30 Lem:=12 Lem:13 dYmit o€ 9 ‘\@’2‘-\-,
2. Simplify the following fractions (write in lowest terms) ~ Mutt ofb - fo.\l,@l"’, e
A 27 B =3 g
621 15 6 36 +y 45+q
- -l- = L - -.‘- - 2-__
3 3 9 5
3. Use a model of your choice to find each sum. Sketch the model.
q M\,“'.bpg.-g it
mv&.o?B:S,Gﬁ,@.;!\) Zhiy 343 @ ¥ @ ok, o€ 7 LBA 2L 1%3
mult. of 4:4,.8.0)... 3y 4%3 3¥12%3
g .4 _ o - X
1212 - @ % b
- =L
1 b
1% .
4. Add. Write your answer in fowest terms.
arite oo} N M2 AL L 0 5 34
wonples ¢f Sy 345 b 3 1 i
Boch denowminaldy =3 ,10 3.1 5™
€ ik helps’ |‘s T3 292q 28 ! Go
\ . 29 _\Se
% : ¢ 1% : 310
p 3 H o S 1% 202l
41& 8 12 631 2xg 5¥2
:‘9_4_ 2 = 5.— % Z 3
ry 12 =5 .4
ZL 3 . i = AT
g l? A z ?6
5 Subtract. Be sure to put your answer in fowest terms when necessary.
) P ag ) o2 145 A
4x3 3%y 11y 543 3%S 12 6an
- - =3 .Z
"1 151 1o
: K e TL"I.—
6. Write an addition equation and find th“g’answer to the sum represented below.




Evaluate. Put all answers in lowest terms.

+*
DEERSEE e By22+4+12 o e D) 43 - 22
AS ‘5!; 68 3, 4 Ty 4
X I N AL . 331 n—
0
: 2% L\_ = 7'_ S
5 ,s_'t TR % ¢
. a&%? *% s = \ia : 1 %2t
8. Kyla is making cockies. She has 21 bags of chocolate chips. She uses 1 of these ba 3

gs
to make her cookle dough What fractlon of bags of chocolate chips are left?

. I8 g 2% 20 _x
&"} JS - ng 3xq ’% '\ 22

22 This week, Mark practiced piano for 3 3 hours, played soccer for 6l hours and talked on

the phone for 42 hours. What was the total amount of tlme spent on these aCtIVItI

es?
3 3 LxM
33«*’@’-‘-‘5 3:“1" %n.*'(o\z*qt \3'|' e —‘34";7_—

Unit 6: Equations (Calculator Allowed Unit)

1. Solve each equation by using a model. Show all steps.

nposihw
Bncgl’ﬁve in—-1=5 B)

ooDDD
.l'.::l
—

oD o
[ $pUD

3pes

]5:3‘
2. Solve algebraically. Verify your solution.

3
A) 2y=18 Bin—6=7 Ct+7=11 D)X= 12%3
= o t6 3 -1 ’

[@=9) LRE]

E)2n—-5=3 F)-3+3n=9 G)5n-14=4 H}4n+7=11
tD 15 13 +3 1M Y S
2m =8 n=lt Sn =18 MnzY
2 2 5 5 v



Show whether or not x = 7 is the solution to each equation
A) 6x = 48 B} 3x+2=20 0)Z=1 <o 2} is vhe solobsn |
bl 248 333 .
Y2 #48 : a é £
& 7’” =1
Students from CBI were going on a sc ool trip to Marble. The cost of the bus was

$100 plus $5 per student. The total cost was $250.

A) Write an equation you could use to solve the problem n=i o€ shudents

Snt100:= 290
B) Solve your equation using algebra.
O +100 = 250
160 160
On = 150
C) Verify the solution S 5 N = 30.
Sn+100 = 25

) #1600

sories O
The tab%essohows the relationship between the number of students in the cafeteria and
the cost of providing their lunches.

Students n | 1 2 3 4 5
Cost{$) C |4.50 | 9.00 1350  |18.00 | 2250
s s . I
u.5 .S “.9 5
A) Write an equation for finding the lunch cost(c) for the number of students(s).
C z4.5n

B} Use the equation to find the cost of 50 people having lunch in the cafeteria.

h=%0 C=4.5n

24.5(%0) Costis $3%
=335
C) How many people were in the cafeteria if lunch cost $225?
C=41.5n

N 0 people were o
339 RS n=So e cofehrio

.
Solve the equation r?presented by the model below.

i h A R’




Unit 7: Data Analysis (Calculator Allowed Unit)

1. Find the mean, median and mode of the following set of data: 3, q'@(p,‘-}

BABEET Mean = % =5 mode is S medion =S 8.
a
2. What is the range for the following set of data:
23%, 26%, 42%,53% 58%  Qopge = 58 - 33 = 2359}
3. Sarah has been trying to improve her marks in her Math and Science in Grade7. Her test
scores for the year in Science are 52%, 56%, 69%, 75%. Her test scores for Math are 48%,
57%, 72%, 85%. Scicnce - mcan—,ngz 2039, mode 1S mome  mediam = 6:1 L%,
A) Find the mean, medlan and mode of each set of tests. §3 432 635‘?
math. mean= L= (S moede iS hene  median = ol msﬂ/
B) Which measure of central tendency would you use to show which subject she
improved the most in?
4. Vicky records the snow fall each day from Monday to Friday. She finds that the first four
days the snow fall amounts are: 2cm, Scm, 1ecm, and 0 cm.  If the mean snow fall was 3 cm,
how much snow had to fall on Friday? 2454110 +E What divided by S equals 3?Is
= 3 The Som muskae 15
5. Which measure of central tendency best represents the data below? Explain.
m“‘“t% = 1.9 mean is tae bes*
5, 5, 5,:‘5“_2) 7, 8, 20 be(au.ge #llre Core
Medion 6.5 :
éux ovHiers
mostu is §
6. Liam surveyed car dealerships in the city to find out the average cost of a new car. He
recorded the following prices: $19 000, $20 000, $21 000, $25 000, and $2 900. Which
measure of central tendency best represents the data?
7. Find the probability of the following situations and express each as a fraction, ratio and
percent. 2
A) P{rollinga3onadie) = _lé =: o= G"/ B) P(rolling an odd number on a die) = % -’5_ = < 50%

8. John has a bag of 2 red pencils, 3 blue pencils and 7 yellow pencils. What is the probability
of reaching in the bag and selecting a blue pencil (in lowest terms)?

P(Blue)= S 23 - ‘I“



9. Classify each of the following events as either impossible or certain

A) The sun rising tomMorrow cevta:in

B} There being snow next winter cer+a’n

C) Sam growing 500 feet in one yeanmposs: ! €

D) Having to go to school next year cevreout

E) Your principal coming to school on a unicycle 'mpossivl e

10. Students have an option of buying school uniforms. They can pick from navy pants,
shorts or skirts for bottoms and yellow t-shirts, turtle necks, sweater or blouses.
A) Draw a diagram to represent the sample space to show their uniform choices.

Qattom %gﬁ Possible Oo_;m__ S
- % ™ P s
Pants H ;-:N
e
Shorts N (3
ComeSt

Sk rtS-%{g S TS Skirt TS
8 STV R0 (N
%S SWiry S
38 Skiry @
B) What is the probability of a student randomly picking navy pants and a yeliow
? 1
sweaters P(Pan‘s amlswedﬂ'\ = -G-
C) What is the probability of a student randomly picking a navy bottom and a yellow
turtle neck? P(N 33 \
ovy Betom amd TN) = 757 m
Unit 8: Geometry (Calculator Allowed Unit)
1. Draw a line segment CD that is 8cm. Use a method of your choice to draw a parallel line

segment to CD.

- - e 3

ﬁ1|

Bem D



4.

3.

Draw a line segment AB that is 6 cm. Use a method of your choice to draw a
perpendicular bisector to AB.

Sem 60!1

. )
Draw the points: A(0,5), B(-1,4), C(-1,3), D(-2,3), E(-3,2), F{-2,1), G(-1,1), H(-1,0), )(&'8).
Join the points in order and then join J to A,




o"ﬁ“\a\
A) Reflect the shape across the y-axis and translate the shape 2
units up and 3 units to the left.

B) Give the coordinates of the new image.
Pt (-l ,')3
NS ID
Q)
S (4, 1)
™ -2

6. Plot the points A (=2, —5), 8 (—3, ~1), and C (0, ~3).
Rotate the shape 90° ccw around the origin.

Give the coordinates of the image.

>
A
2 R'(5,-2)
= = = X B‘(‘,'g)
ARSI EFAENR .
DAl C'(3,0)
\ "B
Rl L




